MCQ Set 3 — Solutions for Posting

1.B
Solution:

@ Kindhe energy :—é m\ﬂ-) So T need v Know the speed ot
the sateude. s mc\/'nr\g,'lf\ cireadar motion | go & RN

: , \J Ve
. =N and ZF=map, Twll apply NIL: @m motisn
Y
@ =R =mar @Xsamit =
m o
GMmMs_ i, V> 2 :%amS(IGD) . .f FBD

D> D _ \
it o TR o e
D

2.C
Solution
Wil T E =
24\ EeDs:VE, T rued +he vadin gt Faz 5 50T neadt 0
Ve \
/ = C'h: I
( @\ _—\IZ—F;I —Rg—CgMem % F‘;ﬂ >
. ; [2¥¢: N &\~ dz du’u_ble_
T4 e ‘ Faz
: , Ron= GMe(@m)_ GMem _ 1 (Gnerd)
- -~ . CZGDI .2_43- nhi' c,klln- »
3.B
Solution
1
E,=E, for laree distzncag hom eodh, insleaq of Us=m9Yy>T
© Bi=2E have 4o use Uy ==GMem | Kb is K=3mv3 Lthere

(D) E, =4E, \a :
e SFQA_J\ V s found V,oir)’r N2L ’L!QPUQ?L'}" e Greuwdoug

rovohen. T did trat in 3F\ and frerd Hat V= @ :
r

S nowd T can fird an éxprﬁ,%hﬁ g ﬂ@n&ru\ for o Sadelile. of mgas Mg
ord_ distance r fren e cepderof Mg : V_ A

E=UqtK —j_—"zmv r S A
= =G Me s 4 GJ\AJ m
. - . ; <
¢ eadh Saklales ZeMems )

()t Rgure B = -
g L aMe( [—GMem
3 Trecchr®) €= J%j 24 DLQM/\L-!

€, =-GMe(2m) _(CGMem
2 _%E) = *ﬂ‘/)

2




4. E

Solution
@ = =\ ‘\'K) ol € s Constznd,
@’ﬂ“é/c(ﬁ'm) K usi\l be 7’[" et Shen U S rmaJA
This La,f:pin:‘ at+ X=3rm.
5.E
Solution
( ﬂj - L{ j NN t\
— “Slope= —— = 20 == = — 200
7A ' '2: m
/]
4\ ¢ ,‘D

Fx/(m) | Al 1o ce e nesad
6) \’.L-_ "‘_‘.’Hl ) \/S}Vd\ 1S J

Ha_ slope ;g e u(i) (?a_‘;!\,
sa F= 4+ 20N\

6.D
Solution :This one is a bit tricky because the problem does not tell you the x position of the particle; it

only tells you that it moved 10 m from where it was released. So you have to find its position x too.
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